English Year 6

Grammar (Text Book, Page 81)

Choose the correct answer.

1. he was busy, he did not go out to play.

2. He is very tired he did not sleep last night.

3. he is poor, he always helps people in

need.

4. The boy did not buy the T-shirt it was too

expensive.

5. it was raining heavily, she went out to

meet her friend.

6. the traffic was heavy, | arrived on time for

the meeting.

7. We are going for a picnic the weather is

cool and refreshing.

8. Idith is very happy she won the first prize

in the competition.



